RIRERHAR

= + g4 5
REEEHRRARSE SF7538108 (A)
H & 2 FEEEE (Fad)
FER-EMERET/KULIEE KEENPWEBRRT 5,214,000 M
ZHDWEFA ¥ R (i (Fitk) B 1K il PR ff 4% (Fi k)
IXIRREHASH ENEK L
RIEExEA RiE€%(MEE) RESZECK) 5 &=
1 IXIREEKRASH 4,740,000 (Fr 474,000)
2 XTI A—R— 5,650,000
IR ESHRENET 4 — R
4 BAESHRELRE)Y—F R
5 REHAVEEES Tt 52— K& &
6 B TH/ AKX E4T R
1HEAIDHAIOABA ST R
& EREEFRSMIZKY %K
RiEZRHEAR
%= A + g4 5
REEEHRRARSE SF7%38108 (A)
% & 2P EEEE (Fad)
HMEERGM-E—F HERNZREFET 16,060,000
ZHDWEFAH ¥ El#E (Faik) B 1K il PR ff 4% (Fi k)
SPikX&tt ENEK A
RIExEA RiE£EUMEA) RBESFECXK) 5 &=
1/ SP¥R &t 14,600,000 (% 1,460,000)
2 %RAE&a7X 24,800,000
IBAEH I —REHRE 34,441,800
4 %X Et7HhYE R
5% )L —E XtkRKEit R
6 BAESHITAFS AR K& &
1 %Xt TL24 £iE @
8 BASHEL AR K& &
9 (kRXEetth—hR—EF T4 —EX £iE &
10 # X £+ NEODAISEI IR
11 XS NELFES R
12 TSR UK e1t R

& RRAETRSMICEY KK




RIRERHAR

= A + H
RRatHRREE SH7E3F 108 (A)
H % 2P ESE (Fid)
FEMTHEBGMEEFREXBKERT 4,488,000 [
ZHDOHEFA ¥ E M4 (Futk) B IR ff 4% (Fi k)
EHEMKEA =4 E| 7N 3 L
RExE4A RiE£EEE) RESZECK FES
1 EHERK=H 4,080,000 (%t 408,000)
2 YA hN—F o5 %K a4t 6,200,000
3 REEKRASH KE &
4 B HUR KE &
5 (kA yrn—FK B
6 RS EILO—F R
7 TYIR DRk St KE &
8 BRh S ELEME KE &
9 (X< VErTIVOSZTYLY IR
10 IMAE A1t R
& RESERSMIZKYLRE
= Ay gt ® RiEZRHEAR
RRaERARSE SH7E3F108 (A)
H % 2P ESE (Fid)
FEMREBELUEBEtL A—BEERFLEYHIE/ANAFA—ILEUT—KRRSA4TE 4,950,000 F
INEXHBERT R
ZEDEF A ¥ 5l (Fiik) B IR @i+ (Fi k)
HBASHNELEES E|R7NE 3 L
RExEA RiE€%E(MEE) RBESIECK) 5 =
1 RS NELFER 4,500,000 (%t 450,000)
2 SPHEH =%t 6,900,000
3kt —TR-O— R
4 BEFAE/NFO— LR E4E R
5 Ao —LHRE%A S K& &
6 KSR TF AR HR—k R
1At tFa)To4IL B
8 h—rEEHA S R

& RRAEARSMICEY KK




